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draughtsman mechanical sets final LEVEL 1

Q 1) Which of these instruments is NOT for drawing curved lines?/ ’5‘14}[ J DT UG

T J@TN Wi & 1T 81 89

1) Large compass/dST URPR
2) Set squares

3) Bow compass/YJY UXDPX
4) French curves/Shd gedl

Q 2) This tool is used as a guide in drawing horizontal lines and serves as a support for the
set squares when drawing vertical and inclined lines./ ¥ 3UD U bl TN TP TS Pl
maﬁamaﬂﬁasm 3T g TUT U8 a9 Fob! @MU WiTH & 7 1 & ferg

TER BT HH HIdl ¢ |

1) Trianglesm'UT
2) French curves/Shd gedl
)T squarefcp[ i

4) None of these/STH ﬁ‘s‘ I8l

Q 3) The primary unit of measurement in engineering drawings and design in mechanical

industry is/ SSNART ST & qUT TS I H fSS1Z & A0 &1 TTUHS SH1E §

1) Millimetre/fBreiiHeR
2) Centimetre/HCIHICR
3) Metre

4) Kilometre

Q 4) The drafting tool used to protect the rest of the drawing when removmg unnecessary
lines is/ 98 ST SUBRUT ol SHTARID XT3 D1 T & THY dTeh! Dl SIS bl
RIEd T & fore IuanT frar Srar 8, deaars

1) Erasing shield@iﬁm e
2) Eraser/RdS

3) Masking tapeﬂ:ﬂ'@v_q L)
4) Sharpner

Q 5) The instrument used for transferring measurements is ......... / {9 RTINS B Bl
UGN §

1) Divider/[dHTST®
2) Compass/UXhIR

3) Protractor/dGl
4) Triangle/aaﬁ'UT

Q 6) A mini drafter serves the purpose of all these, except ............ / U Tt SIUc g gt
ST Il &, Ryare
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1) Scales/dRTv]

2) Set squares
3) Protractor/dIql
4) Compass/UXh R

Q7 Th%r designation of the drawing sheet 594 x 841 mm is/ 594 x 841 ot &t sléﬁll e
CAGIE

1) A0/T0
2) A1/T1
3) A2/A2
4) A3/T3

Q 8) As per Indian Standards, size of D3 drawing board is .......... / YRAG AFS & SIUR,
313 SR IS HT MMHR

1) 500 x 350 x 15 mm/500 x 350 x 15 FL.HY.

2) 700 x 550 x 15 mm/700 x 550 x 15 f& 4.

3) 1000 x 700 x 25 mm/1000 x 700 x 25 fH 4T,
4) 1500 x 1000 x 25 mm/1500 x 1000 x 25 f&.4.

Q9) In the figure given below, the centre line is ............. /g feu e fo ﬁ, kG| %
3] |
1)

c) - - -

d) = = g

1) (a)
2) (b)
3) ()
4) (d)

Q 10) What type of line is a part of a dimension?/ g UpR B aléq 3T &1 g %‘?

1) Break line/sieh TS
2) Phantom line/SeH NIER!

3) Extension line/Qaﬂ%L-‘Il:[ NIER
4) Cutting plane line/@ eI Wi NIES!

Q 11) What is the type of line shown below?/ g g ﬂéw D Y YBR &I %?
\/ \/

1) Break line/sih T13

2) Hidden line/gUl g4

3) Dimension line/3{TITH IS
4) Construction line/fAHOT NIES]
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Q 12) What is the style of lettering shown below?/ g eRia g &) Aeht 7= %?

@

1) Gothic/MAH
2) Roman/RIHA

3) Italics/3e oI
4) Text/%aﬂ—cz

Q 13) Name the tool shown in figure given below./ g ez T 3UHRUT hl HH ddIST|

iTa

1) Pantograph/arcﬁw (W W} 79 &1 TN SIS Wi &1 )
2) Clinometer

3) Proportional divider/&l_j'qm IEHES

4) Master tracer/HIRXCX ?ﬁ?

Q 14) The main ingredient of pencil leads are ............. / Ofd A uqyq It it %

1) Graphite and clay/‘BI'EFIE_Cr G|
2) Lead and clay/a?f G|

3) Graphite and lead/‘altﬁlé? A
4) None of theseﬂ_"lﬁ I ﬁé '_-|_6°f

Q 15) This is an example of reduced scale. /%mmaﬂﬁmw RIARRY %I

1) 1:02
2) 1:10
3) 1:50
4) All of these/d T

Q 16) What is the type of dimensioning as shown below?/ g faz & fammes &1 o
UHR afRid 82
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1) Parallel dimensioning/FHMIIR fammo=

2) Chain dimensioning/a:f faumo=

3) Dimensioning by coordinates/FG=TT® gRT faATT=
4) None of theseE_flﬁ I ﬁ's‘ :|75°[

Q 17) The height of a feature can be dimensioned in ........... / Uch &ﬂ?ﬁf CARGEIES
EIECIEREIISIREXIE]

1) Front view/ATH &1 TG

2) Top view/2Y T2

3) Side view/Td 3R BT TW

4) Both front view and side view/dTHA g Th 3R a:ﬁ =Yg

Q 18) In figure below, which dimensioning guideline has not been followed? 79 = &
oI 3 foame feenfd=n &1 urem =8t forar ma 82

1) Avoid dimensioning to hidden lines/f5TY X@13ff & fqHTU &1 Ioi

2) Avoid dimensioning inside the object/d¥q & IR faATT= &1 aoH

3) Avoid using unnecessary dimensions/3dYh ST BT TN afeld
4) Avoid duplicating dimensions/3TATH] &1 T e BT doi-l

% 19) 22.5 £.005 is known as what type of tolerance?/ 22.5 £+ .005 mWﬁﬂ%@]ﬂT
?

1) Stacked limit/&as JTAT
2) Unilateral/Uchy &g

3) Bilateral/fgUiia

4) General/JTHIY

Q 20) The basic dimension on a detail drawing that indicates the distance from front to back

is/ faga Smgur R g} s o for ot @ e d &t g ERd A1, 3§
1) Width/STs

2) Height/& alé
3) Depth
4) Length

Q 21) The conic section in which all point are equidistant from centre is/ Q@—qﬁ%_c;

fored @ft fog P AT QR E, 96 8
1) Circle/dd
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2) Ellipse/dTdgd
3) Parabola/UXdcid
4) Hyperbola/\}lﬁlw

Q 22) To draw a pentagon, internal angle is/ UerH a1 WHTFT CRIEK:Y ﬁ*l'Q, 3fiaRkes BT

b

1) 180 degrees/180 Tt
2) 120 degrees/120 et
3) 108 degrees/108 &t
4) 90 degree/90 et

Q 23) A circle will appear on an isometric drawing as a (an)/ Y AT 3@ R Udh
gqd HI yifer fears <

1) Ellipse/&gad
2) Cycloid/dshl
3) Circle/dd

4) Parabola/Uxdciy

Q 24) In orthographic projection, the plane on which top view is projected is/ GEEANIE]

U&Y H, 98 e P R Y e vafa gan g, 9w
1) Horizontal/&fcrst

2) Frontal/3{UHNT
3) Profile/ U™l
4) Base/3MTUR

Q 25) In orthographic projection, visual rays are........... to the projection plane./ GEEANIE]

U89 ¥, T fohul &I Iag & g gl

1) Parallel/FHMIR
2) Adjacent/Iad

3) Perpendicular/?’i_@lr
4) Tangent,

Q 26) What is formed where three or more surfaces meet?/ Glﬁ?‘ﬂ:f g1 d’H@I wYlcl {-Idg

forct gt s FRffa grar g2

1) Oblique/fade
2) Line/Tg I1 ¥4I
3) Edgem'l'\"[

4) Vertex

Q 27) Which of the following shows symbols of first angle projection?/ g o QS
T B0 Y& &1 forg axifar 82
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1) (a)
2) (b)
3) ()
4) (d)

Q 28) The angle that isometric lines make with each other is/ dg B0 S FHATIIAT W
TH-gaR & A1 SN

1) 45 degrees/45 f&Ut
2) 60 degrees/60 et
3) 90 degrees/90 &
4) 120 degrees/120 &3t

Q 29) The type of riveted joint shown below is ............ | DA TG BT S UBR g

T TG, I8 ©

AT

|
|
NN
| frio77277

T

1) Lap joint/a'q TG

2) Angle joint/P 10T Terd

3) Single cover butt joint/TUh ¢] pdR cdh U1\|\5
4) Double cover butt joint/GIERT BHAR TIHR SIIG

Q 30) The tool having sharp point, and used for marking on metallic jobs is/ dg 3UDP XTI
forrent Aid oot 81 81, T fSTIhT TRINT oTd & el R 3 - & [ g 6, T8 ©

1) Scriber@_tﬁ BT 3R
2) Centre punch/ﬁ?? ug
3) Chisel/&1

4) FileRal

Q31) A group of ............. is called a byte./ P Tp JHg Ucb digC GG

1) 4 bits/4 focq
2) 8 bits/8 facH
3) 16 bits/16 focq
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4) 32 bits/32 facg

Q 32) When drawing a line using relative coordinate system, a line is created/ U THad

I 3 3T Wigd 9T, Th a1 9t §

1) from 0, 0/0 3, 0
2) from ending point of last line/3{d R T SRt a1 d&
3) from beginning point of last point/UIRYH R T TR R d&

4) None of these/3TH H DIS o1

Q 33) What does UCS in the contxt CAD mean?/ L3l Y Gk ﬂ’c‘['l-f H ?1@[ T hTHT 3ref %‘?

1) User Coordinate System/gsix Frafifse Req
2) United CAD Software/q\:l'lség Bl 1Y St Iiteda’
3) Unite, Cut and Select/TATRE, He d Yalde

4) Universal CAD setting/{ﬁaﬁa BISSIESIE

Q 34) A fitting that connects two pipes placed at right angles to each other is a/ d& fifem
Gﬁ@gﬂ%@rﬂnﬁmwaﬁamﬁaﬁsﬁ‘r%a—s

1) 90 degree elbow/90 &t Ing

2) 45 degree elbow/45 f&t Ing

3) Lateral fitting/UTl s fopfe

4) 90 degree connector/90 &3t Jﬂ@,’

Q 35) Galvanized pipes are steel or iron pipes coated with/ EESTARS Uiy, eid d dle &
Usy Bld § o W ! IR T¢! oIl 82

1) Zinc/fSie g1 ST
2) Lead/dIS

3) Copper/ GIEI

4) Aluminium

Q 36) As per Indian Standards, a drawing board of the size 1000 x 700 x 25 mm is
designated as .......... / YRR ] o 3R, 1000 x 700 x 25 Y. 3THR BT ST
IS & =0 § Tt fFar T g

1) DO
2) D1
3)D2
4) D3

Q 37) A mini drafter combines the function of ............. / Uch Y gIUc & BN
SEESIRIN

1) T - square / T- ¥&hTUX
2) Set squares /

3) Scales and protractor / YO 3R HIUHIS
4y All of these/ T Tt
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Q 38) Identify the drawing instrument shown below. / g GQIiQ 3 §|3.‘| I DI
REEIE!

e\

[ S

1) Clinograph/ BEEIGEC]]
2) French curve / g ab

3) Template/ [

4) Pantograph /

Q 39) In the figure given below, which line represents centre line ? / GE] %Q T o ﬁ,

DI AT g 3T SN &2

1) Line (a)/ XT (a)
2) Line (b)/ ¥@T (b)
3) Line (c)/ T (c)
4) Line (d)/ 4T (d)

Q 40) Which type of line has precedence over all other types of lines? / 9 UBR &1 34T
B 3 GH UBR B! @13 TR T 672

1) A hidden line/ 3TIT& 3T
2) A centre line / b T
3) A visible line/ UIe] ¥

4) None of these/ ESEECIERE]

Q 41) It is the thin solid line used to indicate the feature with which a dimension, note or

symbol is associated. / g Uh IRIP 31 3@ @?ﬁ%ﬁwmﬁwmm‘cﬁ%
forrd) i, fewof a1 udies 9@ B 8

1) Extension line/ ICESINNIES
2) Leader line / 37oft T

3) Dimension line/ 3{TATH 3T
4) Reference line/ T ¥

Q 42) The example of dimensioning shown in figure given below is that of/ g %Q T o
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A g3ifar T ST H7 SereRu B

1) Parallel dimensioning / THICR 3TATH
2) Chain dimensioning/ %l SHTITH
3) Dimensioning by coordinates/ feere smam

4) None of these/ 370 I ARG

Q 43) A dimension given as 22.5 +.005 is known as what type of tolerance? / 22.5 + .005 &
=y T T T ST {5y UHR &t He-SHH & ATH 9 S STl 82

1) Stacked / RIS

2) Unilateral / THyE
3) Bilateral/ feuelta

4) General/ HIHJ

Q 44) Which conic section has eccentricity of 1?/ DI Yhd WS 1 P f[dbgar gad

87

1) Circle / 9d

2) Ellipse /

3) Hyperbola / HECREIS
4) Parabola/ 3{Jdt

Q 45) A circle will appear on an isometric drawing as a (an) .......... / U FHHC RET
R TH Jd D1 Hifd fears <

1) Ellipse/ dTdqa
2) Cycloid/ dehol
3) Circle / dd

4) Parabola/ 31Jdd

Q 46) A sphere can be described in how many views?/ U e fpa- @i o gfofd
e 1T ThaT 32

1) Four/ dIR
2) Three/ iG]
3) Two/ al

4) One/ Udh
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Q 47) This type of a solid has a polygon for a base and triangular lateral faces that intersect
at a vertex. / 39 PR BT 614 YR & 1T Igysl 9 Y R Ufcredg &= arat are
Prep1uiig vall 3 g gl 9|

1) Pyramid / fOR1fHg
2) Prism / TOSH

3) Cone/ CAG|
4) Torus/ TRy

Q 48) A sectional view usually Shows ..........cccc...... details. / U &Fjﬁ YRTT Ef¥eiur
AR R IRl & T 8|

1) Exterior / §T&l

2) Interior/ 3{c:

3) Profile/ U@l

4) Foreshortened/ RIDRefoen]

/ Fre g=ifar mar srfavmig e &-

ar] | fm

1) Aligned / ERRId

2) Half/ 31&RT

3) Removed / ST T
4) Revolved/ YHI g31T

Q 50) When two prisms intersect at right angle, the curve of intersection is made up of

......... %waﬁmﬂﬂﬁmwwg@aﬁuiﬁ@qma%,aamw |
RGN

1) Circular arc/ Qﬁ'l'q 3T

2) Elliptical arc/ ISTHR 3T
3) Straight line / Ttel X1

4) Curved line/ T%F X

Q 51) Which method is NOT used for obtaining curves of intersection? / gfawad db &l

UIW 3 o forT It fafes o 78T ot el
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1) Line method / RECIREIR]

2) Curve method / d¢sh fafe

3) Generator method / SRex fafd

4) Cutting plane method/ HicT i fafe

Q 52) To draw smooth curves of any nature, the drafting instrument used is / foadt oft g

& SRISR dh Wi & g, TanT foram S areT It IUHRUT &-

1) Mini drafter/ ¢TY gIUcX
2) French curves/ Td a%

3) Templates / [
4) Eraser shield/ siGl. I T

Q 53) What type of nut is shown below? / F99 DI UBHR &1 e g TIZIT%?
77N
N/

Naat

1) Semi finished / 3¢ URWpd
2) Acorn

3) Wing / fam

4) Slotted / @GR

Q 54) The object of caulking in a riveted joint is to make the joint ......... /Racs Gﬁ%’ o
IRREFAFT LTINS S §AFTg|

1) Leak-proof/ BSSICRIE

2) Free from corrosion/ G&RUT I Had
3) Free from tension / d-1d Hdd

4) Free from stresses / dIcidTd Had

Q 55) Which tool is typically NOT used in free hand sketching? / Had BSESCIEELE]
3T AR UR B IHT IUDHRUT YA ] [T ST

1) A pencil / BB
2) A triangle/ ﬁﬁ\_ﬂ
3) An eraser / XIS
4) A napkin / >HIcT

Q 56) What is sh%own in figure given below is a ............... /g fomr o o e=ifar %3_6'
G
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1) Bolt/ §ice
2) Screw/ LE|
3) Stud/ ¥¢s
4) Set screw/ qc h

Q 57) The figure given below shows a ............... /g fear mar e v ]| %|

.,HIBeari.ng Baottom Half

Bearing Top Half /B olt

Hexagonal Nut

1) Footstep bearing / Wq SR
2) Plummer block / ®THX CSIED

3) Solid bearing / 3 ST

4) Split bearing / &I §aRT

Q 58) The type of gear shown in figure given below is .............. /g fou T3 faa o q=ifan
7 iR &1 UK 5-

1) Spur gear/ ¥UX R

2) Bevel gear / Sad R

3) Worm gear/ g iR

4) Rack and pinion / Y& g fafge
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Q 59) What do you call when three or more gears are combined? / a1 31fde fR &

S P 3T T Had 82

1) Gear train / TR ¥
2) Gear group/ TR T8

3) Gear series / R YWl
4) Gear team / TR 19

Q 60) The difference in diameter of a pulley at its centre and at its edge is called ............ /
&g IR fobIR IR T Yait & 1 &1 3R HEATd g

1) Bulge/ 3HR
2) Crown / h13

3) Crest / RReR
4) Flank/ OT%-HTT

Q 61) What type of gears are used to convert rotation into linear motion? / fPaTeER &

R guH &1 TTfe H uRafeid B o eIy wged 81 82

1) Rack and pinion gears / & g fufaga R
2) Bevel gears/ §G¢ FITR
3) Spur gears / R R

4) None of these/ ERLEl Tﬁ_sc I8l

Q 62) Which of these operations cannot be done on a lathe? / g Tara § Q o UG
TR g1 T off Teber?

1) Punching / f&§g01

2) Facing / BRI

3) Taper turning / SR T
4) Drilling / fSfeiT

Q 63) In Autocad, shortcut key Ctrl+N means ................ ) 3ffelors ﬁ, Qicdhe w Ctrl+N
BT IS B-

1) Creates new drawing / T E'IE"T CEIGI

2) Repeats last command/ [EENIEZIS] a_E:TFﬂ

3) Cancels the preceding Undo action/ WG‘F@' B B X Pl
4) Cancels current command / 3t &t T TS DI g PRI

Q 64) When drawing a line using the relative coordinate system, a line is created from

............ /519 Raifea drefise ey &1 UunT Hd W@l Widd HY, Tk [T

1)0,0
2) The ending point of the last line / SR T & 3fd R’R
3) The beginning point of the last line / MR I & ng@ﬂ?ﬁ B3R

4) None of these/ ST A DI 11
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Q 65) 58S concept is the creation of which country? / 5S SdYUIRTT] fPa S S T ]?

1) China / 94

2) Japan / SITUTH

3) Germany/

HUK/G &

Q 66) Coordinates for the current position of crosshair of the cursor is seen in ........ | IR B
HIORIR P aad fufd & forg e AU S g

1) Menu Bar / ﬁqaw

2) Standard Toolbar/ RUSS [SCIR

3) Properties Toolbar/ STTETe TATR

4) Status Bar / LI IR

Q 67) The pictorial view and symbol shown below is of ............ / g <=t T e
TR 3R Ui éﬁ%ﬂ

Pictorial Sym

2T

1) Straight Tee/ e &
2) Reducing Tee/ A1 ll
3) 90° Elbow / 90° Tedi
4) Gate valve/ T ared

Q 68) The majority of pipe connections are made with ............... / SATIHIR UIRY SIS
BT

1) Flanges / TeiSt

2) Pipe fittings/ UTgU fthfc

3) Sliding connectors / %ﬂl%%‘l Hd
4) Self-locking connectors / Heh-cAllh T hdcX

Q 69) Following is/are the example(s) of reduced scale. / BRI Y 99 & JalerUl %/

1) 1:02
2) 1:10
3) 1:50
4) All of these / T FHT

% 70) Who is responsible for maintaining PPE?/ didis HI g1 X & forg CACRI A
o

1) Employer / arferd

2) Employee/
o C o .
3) Employer and Employee Both/ HIl¢IP 3R HHIR ALl
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4) None of these/ ST A DI a1

Q 71) What protection is needed if you are exposed to hazards from flying particles? / &1

IRET MAAH § TG 3 ISd §U BN A g aTel JHaH &b Tudh H g2

1) Eye protection / 3T Nl

2) Face protection / J gRE&T

3) Head protection/ RIX Rl _

4) Both eye and face protection / g d T JR&T I

Q 72) What is the type of lettering shown in figure given below? / GE] ﬁ'q T o § g iQ

1) Single stroke vertical Gothic lettering/ fTTel W geferd MAYH Te T
2) Single stroke inclined Gothic lettering / RITeT w TS MRS el
3) Double stroke vertical Gothic lettering/ S&cI w gferd M def
4) Double stroke inclined Gothic lettering /SdcT w TS S Mid® i

Q 73) The depth of a feature can be dimensioned in ............. / Uch 31@]% Go| ‘TERT&F Col|
B 3rTfArd fBar off b |

1) Front view/ I €Y

2) Top view / ¥¥ T

3) Side view/ UT% TT

4) Both top view and side view / MY T2 3R ursf TRg gl

Q 74) First aid includes help to the victim as well as treatment of the injury. \

g%ﬁr%mﬁﬁ%aaﬁaﬁz%w%wuwu gerdn i afwferd
|

1) Mental \ARI®
2) Financial\3{Tf&s
3) Both mental and financial \ AR 3R 3ffes g

4) Psychological\

Q 75) When working with electrical components, you should .\ﬁﬂ:ﬂﬁ
SUDBRUN b H1Y HTH HId THY, SHTTDH] eIy

1) Follow all written procedures\ﬂ'l-ﬁ fafaa ufsharsii &1 ura &=
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2) Work very fast\Ggd doil § HTH BT
3) Wear wet boot\ Tt §c Ug-l
4) Think about completion of work\dTH YT 81 & IR T FaT

Q 76) The line made of short dashes of approximately equal length is called A
TTHT SRR TS b DI S F I+ a1 Y CaRSIGIE

1) Dashed line\SfRTc ¥

2) Object line\3{Teotare T

3) Center line\ b &1 T

4) Cutting plane line\& T @i X

Q 77) Which of the following drawing instrument is shown in figure below\FHfREa # @
EN . .
P T ST USRI - fau 74 fort & g=ifar man g2

a— A SLEY Y [HAWING
A LA L

1) Mini drafter\fFiT §T0ReR
2) Mega drafter\ BT St}
3) Drawing scale\STS T d
4) Drawing gun\S'I—"QhT T

Q 78) Which of the following drawing instrument is shown in figure below?\FgfeRad & 4
I AT STS7T SUDBRYI A1 faT 7T = H axifan g2

AIBCDEE GHIJK
LMNGRPQARSTU
VW XY ZB£ES &
1234567890

1) Stencil\ & RI@

2) Number plate\TeR @e

3) Drawing scale\SI<l Hd

4) Drawing gun\SIST T4

Q 79) The inclined letters slope to the right is at an angle of A @ foramae &
eI BT P BT 8|

1) 75°

2) 10°

3) 60°

4) 15°

Q 80) A line of 1 meter is shown by 1cm on a scale. Its Representative fraction (RF) will be
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equal to A\ 1 Hiex B Th 13- BT 1 AH) gRT TS THM WR < a1 g | 39T
f=fud f¥F (RF) & TRISR g1

1) 1/100
2) 1

3) 100

4) 1/1000

Q 81) To make drawing of very large machines, buildings etc. the scale used is A

g‘g'?raé‘rmzﬂﬂ‘r swm“rswf%aﬁwﬁ%%uwmaﬁwaw

1) Reduction scale\=g"1 BLIE|
2) Full scale\quf TAMT
3) Enlarging scale\TRag ST

4) Fractional scale\[H@TH® SEIC

Q 82) In orthographic projection, each projection view represents how many dimensions of

%n object? \TEHITN T H, TS U&U o U SHieoiae & fha- faHR &1 Uafid war
9

12
2)3
3) 1
4)4

Q 83) In orthographic projection, the projection lines are to the projection

plane.mﬂﬂq Ua'q ﬁ, UMW UWW% Eﬁ?‘ﬁ%l

1) Perpendicular\cl+dt
2) Paralle\JHMIAR

3) Inclined\Udd
4) Horizontal\&fcrst

Q 84) Which of the following dimension representation is incorrect? \mﬁ Y BN
<t famT &1 ge=H Tad &2

,.\
)

)
‘L

1) 20
2)22.5
3)15
4)35
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Q 85) In aligned system of dimensioning, the dimensions may be read from A

STy & famsfizr 0 AU IsdIel

1) Bottom or right hand edges\ S 311%9{ HUEACEIN
2) Bottom or left hand edges\:ﬂ%[ gl aTQ Bl CAGTIN

3) Only from bottom\RIW <

4) Only from left side\fITh aTT 3R T

Q 86) When one object is symmetrical, it is not necessary to create a complete sectional
view, what type of sectional view is appropriate in thls situation ? \ Vg Udh g JHEY

$H0|°I q;Uf IR o FMT RIS T8} a1dl 5, 39 IR H frg YR &1
'HGRI"IN Eq\dl‘cld 6|(‘|I %‘7

1) Half sectional view \ 3{ & YR 28
2) Continuous section R IRH
3) Removed section\ ﬂTjE BRI

4) Broken out section \SH 33T T

Q 87) The sectional view drawing in which one fourth of an object has been marked for
removal is known as section. \ 98 YR g SIS WWWWW
A Y geH F U Rafrrmg, = JeA S SUATEIA@e]

1) Half \GT%

2) Ful\% o]
3) Quarter\

4) Revolved\

Q 88) Which of the following has a single curved surface?\FEIRIT # ¥ fhaH Towa
THIHR s Il &7

1) Cone\q®p
2) Parabolic solid\URAAATDHR 31

3) Sphere\l Il
4) Cube\U-d

Q 89) Which method of development is employed in case of prism? \rm & INIY |
Saauiic 3 B T 3 g gt 2

1) Parallel line development\FIHTIAR X fadbr™

2) Approximation development\ﬂﬁw fawr

3) Triangulation development\ IECANIBERURECIR]
4) Radial line development\ﬁﬁﬂ'qm fawrg

Q 90) Which axonometric projection is used in engineering practice? \ JMiA®! s H

fHq sreifirdia yarg o1 uanT fasan Srar g2

1) Isometric projection\W&R‘ﬂ’q gay
2) Trimetric proj ection\FFdg weT
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3) Dimetric projection\@ﬁl?ﬂ’q gag
4) Fourth angle proj ection\aﬂ?f P0G gaq

Q 91) How many degrees of angle from the horizontal is made in perspective projection? \

< uau H &fast I fora &3l &1 H1or s siar g2

1) 450
2) 30°
3) 65°
4) 750

Q 92) Identify the sectional representation of double V- butt weld. \ Sd¢ V-dc de b
RENERNEEUICARLEIE]

1)
2)
3)
4)

Q 93) Which of the following instrument is used to measure accurately the angle of taper? \

9 H ¥ DI T IUSRU TR & HI01 B Il U I AU & o1 UanT fbar S g2

1) Bevel protractor\aaﬁ Ehaaa

2) Bevel gauge\aaﬁ US|

3) Vernier bevel protractor\aﬁcﬁ Sad Eﬁ?ﬁﬁ?
4) Taper gauge\é'CR LS|

Q 94) The least count of a vernier calliper is A\ GFRR SRR &7 3regdio
gl

-
I

dl

1) 0.02 mm\0.02 .
2)0.01 mm\0.01 F&.
3)0.001 mm\0.001 F&.
4) 0.5 mm\0.5 oY,

Q95 A bearing supports the load acting along the axis of the shaft.\ T

forafiT T 3ief & THMIGR B B aTel dlS &) GERT ol g

1) Thrust\$¥
2) Radial Rf&TA

3) Longitudinal @ Teg ST

4) Transversal\¢

Q 96) Which of the following is a friction bearing?\fFEIRad H ¥ 19 T U TuT fogfea
g7

1) Bush bearing\g=RI foaf

2) Roller bearing\w foafe

3) Ball bearing\av'lﬁ foafe

4) Cylindrical roller bearing\ ﬁﬁm IR faaha
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Q 97) The function of bearing is - \ faTRIT &1 PRI Q -

1) Supporting long shafts\THIT M BT TERT &1
2) Fastening two shafts\Gl RITUC! BT T BHRAT

3) Scratching of surfaces\ {-Ids\l. CARCRIER]

4) To get flat surface\HHd T ddg U] PRl

Q 98) Which flat belt drlve system has two pulleys mounted on driven shaft and one pulley

on driving shaft?\ foog TR e SIEE Wﬁﬂﬂ?ﬁ%ﬁqw WEK’F[@'I’{%"T
TMPe R A Bl &2

1) Fast and loose pulley drlve\w 3R ol g?ﬁ glkd
2) Multiple belt drive\HeeIUd deT gled

3) Cone pulley drive\® I Q?ﬁ SIEE]

4) Jokey pulley drive\STi] g?ﬁ SIEE)

Q 99) The included angle for V-belt is usually .\ AR | dt-see & g
ATy SHIoT gl
1) 30°t0 40°\30°  40°

2) 10° to 20°\10° ¥ 20°
3) 5° t0 10°\5° ¥ 10°
4) 60° to 80°\60° I 80°

Q 100) In worm and wheel, the shaft axes are at ATH 3R oA ff, MG & 378

WREAEI

1) 90 degrees\90 &t
2) 45 degrees\45 &
3) 60 degrees\60 i
4) 180 degrees\180 f&3t

Q 101) Which of the following type of follower is generally not used? \ foferfaa o 9 fog
JHR o IalaR STHIR WR YA g1 [hd 1 62

1) Knife edge follower\Igh TS IR
2) Roller follower'RIeR WIdAAR

3) Flat faced follower\Udic Ty HIdIaR
4) Spherical follower\ Th b WHIATAR

Q 102) Which of the following is/are the lathe operation? \ fFafafea d @ e A dy
S{TORRM g7

1) Knurling\ AT
2) Chamfering\

3)F acmg\eb—ﬁm
4y All of these\d T+

Q 103) Down milling is also called \ BT At &1 “—ﬁw
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IS

1) Climb milling\&ATgd fafer

2) Conventional mllhng\aﬁw fafer
3) End milling\US fafei

4) Face mllhng\w fafer

Q 104) Which material is used for making pipes? \ UIQU CEIEE:] INIMERESIEPIED TR
ERISIGIG

1) Ceramic\RRF®

2) Stainless stee\ T WId
3) Copper\w

4) All of these\d T

Q 105) The longest distance which passes through the ellipse is called . \m

JTRITAN JeA i gdd  dEd ol

1) Major axis\&Td 3181
2) Minor axis\eTq &
3) Directrix\fgal

4) Center\ &g

Q 106) The curve generated by a point on the circumference of a rolling circle on the
outside (convex side) is called \dleR (3dd HIgs) P TRP Th AfeiT b d B
R RIS GgRISTTATF S Fed ol

1) Epicycloid\qﬁwgg
2) Cycloid\
3) Hypocycloid\BTE'CPIFTE'<_1|'F”I3f_§'\_Ear

4) Involute\

Q 107) How many units are available in AutoCAD? \ &ﬁa% o fpd- W@TW
B 82

s
2) 4
3)3
4)2

Q 108) Solid Works is a \ grfers gt Uh %I

1) 3D CAD Program\3D CAD WUTH
2) 2D CAD Program\2D CAD HIUM™H
3) 1D CAD Program\1D CAD WU
4) 5D CAD Program\5D CAD URITH

Q 109) On which axis we do not work while make a drawing in 2-D? \ 2-D | §|$.‘I CEIG]
I W oy 31gf IR T 18] Al 82
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LEVEL 1 Answer key

g:.estion Option 1(\:il)l.estion Option 1(\?(l)l.estion Option 13::_eSti0n Option
1 2 31 2 61 1 91 1
2 3 32 2 62 1 92 1
3 1 33 1 63 1 93 1
4 1 34 1 64 2 94 1
5 1 35 1 65 2 95 1
6 4 36 2 66 4 96 1
7 2 37 4 67 3 97 1
8 1 38 1 68 2 98 1
9 4 39 3 69 4 99 1
10 3 40 3 70 3 100 1
11 1 41 2 71 4 101 1
12 1 42 2 72 3 102 4
13 1 43 3 73 4 103 1
14 1 44 4 74 1 104 4
15 4 45 1 75 1 105 1
16 2 46 4 76 1 106 1
17 4 47 1 77 1 107 1
18 2 48 2 78 1 108 1
19 3 49 1 79 1 109 1
20 3 50 3 80 1

21 1 51 2 81 1

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=46

22/34



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=46

22 3 52 2 82 1
23 1 53 3 83 1
24 1 54 1 84 1
25 3 55 2 85 1
26 4 56 3 86 1
27 1 57 2 87 1
28 4 58 2 88 1
29 4 59 1 89 1
30 1 60 2 90 1

draughtsman mechanical sets final LEVEL 2

Q 1) When two prisms intersect at right angle, the curve of intersection is/ & al e

DIV TR Th IR I Fled g, al Hfaded H1 Iw §

1) Circular arc@?ﬂ‘q 3%
2) Elliptical arc/GrdguiIg 3MTdh

3) Curved line/dsh X T
4) Straight line/Nel X1

Q 2) Which of the following is not a part of a rivet?/ 9 & T - fde a1 Hidas &1 U

87

1) Head/RRT a1 S
2) Shank/H&RT

3) Tail/Y=d
4) Thread@\?ﬁ (a?[ ﬁ)

Q 3) What is the type of rivet head shown below?/ g 2Rfd wiae R &1 A UasR

¥

074

«—Length p-!

1) Snap head/ &Y e
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2) Pan head/U Y
3) Mushroom head/HRR>H UL
4) Flat head/FHIA IS

Q 4) Minimum dimensioned that can be expressed on vernier caliper is/ <JIdH famma= fo
R refitR R e foan o 9, §

1) Zero reading/<[ NI

2) Minimum count/~J"AdH IUIT
3) Minor countﬂ:I'ITEﬁ NG

4) Least count/®H q HH AT

Q 5) Figure given below shows the principle of ................... BEC RIS &ﬂ?ﬁf
&1 Riid e |

c

A
|

1) Angle bar/UTTd §R T HI0T BIS)
2) Sine bar/SGT AR

3) Oblique bar/3Fd® TR

4) Inclined bar@aﬁ E_'ic SIS

Q 6) In vernier caliper shown below, parts at 2 are used for ......... EiE] %Q IR R ff,
YT 2 & T ygad feu od 8

2]~ T

1) Inside measurement/3{G+11 HIU-
2) Outside measurement@'l_efﬁ HIY9A
3) Depth measurementﬂ'l_E!TI_sc HUAq
4) Angle measurement/& 0T ATGT

Q 7) Feeler gauge is used for measuring .................. / TTER 711 T START Pl
A o forg fasan Srar 3 |

1) Thickness of plates/clﬁl?ﬁ Pl nﬁaﬁ

2) Clearance between mating parts@Sef gTel YET o &g &1 b
3) Pitch of screw threads/dd &1 q\é\l CaREGNG!

4) Radius of curvature/deb dl IES]

Q 8) The ball bearings are provided with a cage to ............. / ST 9T & fou s

R & 1Y o1 RT3 oIl &
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1) Reduce friction/THUT HH HIA

2) Facilitate slipping of balls/STd & TP Bl ﬁﬁ?ﬂw CEIE]

3) Prevent lubricant from flowing out/Q;lsch % CIRR |r-\-|cbc1:| ﬁ Q\Ich'q

4) Maintain balls fixed distance apart/3{TUd | ﬁ CISEIC] ?A'_\Pf ST G

Q 9) Which of these is an antifriction bearing?/ sT'l'Ef J oIt Tfor faRieht saf %?

1) Journal bearing/SIX-¢T CRIRYl
2) Needle bearing/:nga SR

3) Pedestal bearing/am SaiaT
4) Collar bearing/d el ST

Q 10) In a full journal bearing, angle of contact of bearing with journal is/ U WTW
ST H, SR &1 SR 3§ fieH w1 v g

1) 120 degrees/120 &t
2) 180 degrees/180 TSt
3) 270 degrees/270 &3t
4) 360 degrees/360 f&3t

Q 11) To print the entire project, you will choose to regulate what to plot?/ WW
DI BIUA & 7Y, 31U Wi DI T H o forw o g

1) Display/q_cfslf

2) Extends/f[d%dR
3) Limits/AHid

4) Window/fasat

Q 12) Which of these is NOT a pictorial drawing?/ 38 ¥ ®I=91 g 3mRa g1 82

1) Isometric/THHAIT AT 41T
2) Multiview/dlg €Y

3) Perspective/TRU&T

4) Axonometric/3f &fira

Q 13) Pipes which are generally connected by bell and splgot or flanged joints/ q ary S
THTIG: 99 9 fRETe a1 WivieR Ig6d 9 93 814 g,

1) Are soil and waste pipes/&@o[ d hRTUIRYU
2) Are water and gas pipes/CI'I:ﬁ gy argyu

3) Are water and steam pipes/cl'l:ﬁ d HU Uigy
4) Are gas and soil pipes/ﬁﬂ qd ﬁl@of CIER

Q 14) The internal elements of a valve are collectively referred to as a valve’s/ did &

TR 3agdl Hl Ifed TUVdledd  Hel ol gl

1) Guts/TTcH
2) Trim/ficH
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3) Works/@ai
4) Packingsfaﬁﬂ'[

Q 15) What does following pipe fitting symbol show?/ g faar urgy foefdn fas o
aRid g2

—&—

1) Flanged joint/FISTGR Ygad

2) Screwed joint/HT §31T HY

3) Bell and spigot joint@?f 9 fayie Tgad
4) Welded joint/dcs Igad

Q 16) What is D in the following figure? / A% R & D T 82

<« |
r—— E —

:at—C—)-I

1) Pitch / fU

2) Pitch diameter / T ST

3) Major diameter/ YHd U
4) Minor diameter/ STHBH U

Q 17) In the figure given below, what instrument is being used to measure the gap? / GE]

U T fo H, 3IRTa &1 HIUA & forg I SUHRUT U o ST 38T 82

Measurament

1) Slip gauge / TG ST

2) Feeler gauge / IR 715l
3) Plug gauge/ Wil TSt

4) Gap gauge /
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Q 18) What type of coupling is shown in figure given below? / g fau HUAEPR:EIE
YR BT A G117 82

Rigid unprotected type flanged coupling.

1) Solid flange coupling / ﬂ'rl'%_d Tl YIH
2) Protective type flange coupling / W&Iﬂ UHR BT Teiol JHq

3) Rigid unprotective type flange coupling / €@ Hﬁ?@fﬁ UHR BT TSl YiHAq
4) Split flange coupling / Rt weist YiHAq

Q 19) Which type of coupling is used for connecting shafts whose axes are parallel but not

in one line? / B YHR BT JH 3 AT DI SIS+ & HIH T ¢ o 3181 JAIAR
N E R T @ H L 7

1) Oldham s coupling/ 3CSgH i
2) Universal coupling / ﬂﬁ“—ﬁm YiHAq
3) Flange coupling/

4) None of these/ 37“3[ I ﬁ's‘ :@Qf

Q 20) In the roller bearings shown below, which one has tapered roller, thrust? / g anié

T AeR SART H, fad <us AeR, 3w &

1) Bearing (a) / ST (a)
2) Bearing (b) / SR (b)
3) Bearing (c) / SR (c)

4) None of these/ ST A DI T8

Q 21) The metal suitable for bearings subjected to light loads is .......... / Beh YR & T
ST & for Suge 1q -
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1) Silicon bronze/ ffere i dida
2) White metal / G g HTq

3) Monel metal / o d Yrd

4) Phosphor bronze / IR idd

Q 22) When many machines obtain the drive from a main driving shaft, it may be required
to run some machines intermittently without having to start and stop the main driving shaft.

In such a case, what type of pulley drive will be suitable? / SId dgd It 7efiH T qeq
@gﬁﬂwﬁ 3139 UK qoecu% T SISfTT YT &1 Y 3R ¢ fht fa T &
TR o1 P TP B IAY S D1 IIHdT 8 Iabell 5 | Tt fFRUfT |, mwﬁ

efl S13d I 671

1) Step pulley drive / *U EJ,Fﬁ glkd
2) Cone pulley drive / CAG| EJ,Fﬂ gled

3) Fast and loose pulley drive/ TIRC d ¢yl gIgd
4) Compound pulley drive/ HUSS Jait ST2d

Q 23) Which statement is NOT true about helical gears? / UgeR iR & SR | P
HYT I T8l 82

1) They are used for high speed running/ pRE RIS fam Ugad gl %
2) They are used for heavy duty gear drives /T Holdd R %sd & ferg Ugad gid %

3) They are noisy in operation / PEICINE| ﬁw
4) They have greater load carrying capacity / P! YR I8 &Hal & gt %

Q 24) Due to slip of the belt, the velocity ratio of the belt drive .......... /deC & fhad ST &
PRULICIRABI AU g

1) Decreases/ dcdl

2) Increases / dedl

3) Does not change/ 8! daadl
4) None of these/ ESUKS) aﬁé Tel

Q 25) What part of a lathe is shown in figure given below? / WRTq I DI YT g f
T forr | guifar man g2

Barrel lack

{
— Screw
\q /??7)3;/ //‘/7?7//
CODARNN /‘
"“-1_
7| |
=3 Y ’._ \_r4—Handwheel
—, L
Cantra ﬁ/'-“ IR <+— Body

Base —p

Lateral adjustment scraw

1) Headstock / %@E'UW

2) Tailstock/
3) Carriage/ B
4) Apron/ TH-
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Q 26) Which statement is NOT true about figure given below? / Ffofeu & ar o
EN .
DI HY T T8 52

Cutting Toel —. Tool -
\1' Feed
— |
 S— |
p—
' -\ I Stroke !
N Stroke

(large arc distance]

g,
" Return Stroke
|wmall arc ceEance)

1) It relates to shaper / g AR I T %

2) It shows quick return mechanism / & afd ARt fpanfafd qxifar 8

3) The mechanism it shows is meant to reduce machining time / S fepanfafe a8 g %
a8 TR 9 &) 1 R & e a1 8

4) This mechanism is similar to that used on milling machine/ g s | W Ugad Eg
ERIUEIRERIEIE]

Q 27) Using the Relative Polar Coordinate System to add a 3 inch line that is 45 degrees
from the end point of the line created earlier, what will you do?/ Udh 3 375[ %i"@ﬂ Eblf Gh?;ef
¥ Rore R trer HIonfEIe Riew o1 v fran ot s 4 Fiftial ¥ & o RR 4 45
el R &, dl oy o B

1) Type@3<45 and enter / CIRU@3<45 3R T P
2 N . e
2) Type 3 back slash and enter / 3 Jh IR 3R UCR CIQU PRI
3) Type 3 forward slash and enter / 3 RIS W 3R UcX CIgU ]

4) Type 3 and try to use the Dynamic Input readout to find the front end/ 3 CIRU B 3R
The U8 &l WioH & (o8 SATH® $7YC JSIHTIT & TN &1 YA Bl

Q 28) An axonometric drawing which has all three axes divided by equal angles is ........... /

T eI Tee SISt forgas Gt it ier G sb1u § fauiiord § a8 &-
1) Dimetric / STSHITC®H

2) Trimetric/ ¢
3) Orthographlc/ WW

4) Isometric /

~

Q 29) What you can t create from the command Offset, is ............ / BT HHIS S 319
fAfefd =i X Wepal a8 -

1) Vertical straight/ dead e

2) Concentric circles / Fabfad ad

3) Three parallel lines / A TR @MY
4) Parallel arcs/ HHIX 3T

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=46 29/34



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=46

Q 30) The piping drawing shown below is .............. /g gt TR PIECGIER RSIER %—

1) Orthographic piping drawing / e CIECRIERESIEN
2) Single line piping drawing / U g UIRUIRT SILTI
3) Double line piping drawing / él@ﬂ NIERRIERNIES! 5I$‘I

4) None of these/ E:I'E[ I ﬁ's‘ :@Qf

Q 31) These types of pipes are generally connected with bell and splgot joints or flanged
joints./ T YHR & UIZT AHIIG: 9 T FRATE SIS T Telols Sitel ° 93 8Id g

1) Soil and waste/ JaT 3R 3T
2) Water and gas / gt 3R T

3) Water and steam / Tt 3R HIg
4) Gas and soil / T 3R Hal

Q 32) One critical issue, drafters need to pay close attention to is the .../ Uch WHET
IR gTueR & fARY e 23 B 3TaZgeha € I8 B-

1) Size of the sheet / e &1 THR
2) Designer s intent / ISUII'&“R CAENE
3) Scale factor /

4) None of these/ ESEES) ﬁ‘s‘ g1

Q 33) Which of the following foundation bolt is generally used in temporary foundation? \

9 H ¥ D I BREITH diee ATHIR R SRR BRI & forg T fear Sirar g2

1) Lewis Bolt\aifad Sice
2) Cotter\@Icx

3) Rag BoltXT See

4) Loop Bolt\qqU Cl 5

Q 34) A single riveted b%uttjoint has \ T R Rdce se ol
| |

1) One row of rivets\ fYac &t Uh UIES|
2) Two rows of rivets\Rae &1 g Ufad

3) Three rows of rivets\Rae @1 ot dfdd
4) Four rows of rivets\Rae 1 IR dfaq

Q 35) How is the size of the sine bar specified?\HIg dIR BT H[hR ﬁ ﬁﬁﬂ%@ fopar Srar
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87

1) From the center-to-center distance between the rollers\RITRI & A hg--dg ol @ |
2) Length of rollerRITR B Q'Hdl'ir |

3) From diameter of rollerRIeR & &N I

4) Roller material\RTeR Teref

Q 36) If the dimension of a component is finished within the limit of size, then it will be- \

e T HHMC &I STHHTH T3S o1 forfirey § ey favar sirar 8, 99 98 gian &-

1) Acceptable size\@ﬁ RIESH
2) Minimum size\"J1dH HIgs

3) Basic size\ Hcl HIQul

4) Maximum size\ B TH S

Q 37) A dimension is stated as 25+0.01 mm in a drawmg What will its tolerance? \ Udh

ST H TR 718 SRHRA 25+0.01 TR, ) SHHT Sl fara1 g2

1) 0.04 mm\0.04 T,
2) 0.02 mm\0.02 T&.
3) 25.00 mm\25.00 F&.
4) 25.04 mm\25.04 .

Q 38) Which gears are used to connect two intersecting shaft axes? \ @l Ufd=sed Qe
31eff B Se & e o9 1R &1 yanT farar Sirdn 82

1) Bevel gears \§ad R

2) Crossed helical gear\ﬁﬂ galpd TRR
3) Worm and worm wheel\aﬁ GﬁT EIIT @_'(‘ﬂﬂ
4) Spur gear\¥UX R

Q 39) A spur gear with pitch circle diameter D has number of teeth T, the module m is

defined as N\ TS TR IR ¥ g 9o & D 3R Gid! &1 S T 81, ot
Wedm® % &0 3 uRyifd rar o 2|

I)m=D/T
2)m=T/D
3y m=nD/T
4)m=D.T

Q 40) The size of a shaper is given by \ R BT HR
ERT fear Sar 31

1) Length of stroke\%gijld) D Q14-®Ilsr
2) Motor power\ﬁlﬂ D1 Qe

3) Mass of machine\HRIH T HR

4) Height of machine\FRI &I W’F&c

Q 41) Which part of a shaper allows the cutting tool to raise slightly on the return stroke? \

AR BT DI T UIE BT odl B Red Tie R AT a9 B S a1 32
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1) Clapper box\FATR ST
2) Cross - slide\Sh 1TSS
3) Ram'¥H

4) Tool part\gcl e

Q 42) In which of the following joint, four pipe can be connected in the pipe fittings? \ sT'l'Ef

T {59 Sis #, urgy fObfén & IR Uy Sie o1 9hd 82

1) Cross\eh 1
2) Socket\HIdhT
3) Elbow\Tes!

4) Tee\Cl

Q 43)%Flange joints are used to A\ TS SIS ST Ut & foru foman
ildl &l

1) Connect the large diameter pipes\a% R &b UIgY W\IS.:I
2) Connect the small diameter pipes\@% N &b Uy Gﬁ@ef
3) Increase the length of pipes\UIgU G| ?IWI% aaﬁ

4) Decrease the length of pipes\UIgU CA| ?IWI_QC HH P

Q 44) To obtain parallel lines, concentric circles and parallel curves; is used. \

w%mﬁf@'rq Wﬁeﬁvwwwm%r%m e
iG] —

1) Offset command\3{THUC HHTS
2) Array command\3R HHE

3) Fillet command\fthaic HATS

4) Copy command\® Ul HHS

Q 45) Which of the following command is related to Draw tool bar ? Noek R kA ks
HHS ST ¢l IR J Jrifed 82

1) Poin‘[\tl'\fér_cr

2) Line\dTlg

3) Polygon\tl'lFﬂ"TF[
4) All of these\d T

Q 46) The 3-D commands on the Modelling toolbar include ~ \ Aiefef CldR U}
3Eteas s wifa A

1) box\SIeT
2) Line\cTlg-
3) Arc\3(Tdh

4) Circle\Tfdd

LEVEL 2 Answer key
| | l 1]
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Question No. | Option Question No. | Option
1 4 31 2
2 4 32 2
3 2 33 1
4 4 34 1
5 2 35 1
6 1 36 1
7 2 37 2
8 4 38 1
9 2 39 1
10 4 40 1
11 3 41 1
12 2 42 1
13 2 43 1
14 2 44 1
15 3 45 4
16 1 46 1
17 2

18 3

19 1

20 3

21 4

22 3

23 3

24 1

25 2
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26 4
27 |
28 4
29 1
30 1
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